YTTOAOT ZZMOZ

1. Ixnuatilw touc apOuouUc atov aPaka Kat TouC ypdpw, OTwWC ato

mapddetyya.
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2. Bplokw ta amoteAéouata Twv moa ewv.

20 + 7 = 27 24 - 4 = 20 35 -5 = 30
50 + 2 = 52 59 - 9 = 50 56 - 6 = 50
30 +9 = 39 32-2=30 50 + 7 = 57
10 + 5 = 15 12 -2 = 10 28 - 8 = 20
40 + 4 = 44 44 - 4 = 40 40 + 6 = 46
20 + 1 = 21 33 -3 =30 30 + 1 = 31

T [ —



YTTOAOT ZZMOZ

P
(199797114 44, > ::711;71”"111111"'.
¢ S SIS 3
N W R
N N
E : 177/ “‘i’e‘ 17/
3 $ R N
s 8+3=11 \ E 8+4:=-12 s
\ N - \
) Y X \
$ 6+hH=11 3 N 9+2=11 §
3 \ § 3
X 7+5=12 \ Q 9+5=14 X
X § § X
- \ N\
N 9+4=13 & N 9+3=12 \
Q b N N
N N X \
§ Y} 8+5:13 ¢
\ N 3 %
\‘-.ljl” W7 arsast? “aers) E =\
Q \
s ’I” £ go80y, $
‘?ol;/l’” s’ 244449




